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* Prove thatif P and Q are two longest paths in a connected
graph, then P and Q have at least one vertex in common.

Q

— bk REPRIQAEAS, AR—met:, BRE|P|I>=]Q]-
Mp, QBEH AP, 9, ZIEAEHRSP. QMM HAa&E/b14%14.
PHEK—E. R. QPR K—BRANBAEKES>Q, S5anKTr/E.



GCHE1.3041>]22

* Let G be a disconnected graph... Prove that if u and v are any
two vertices of G, then dgz(u,v) = 1 ordg(u,v) = 2.
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— Theorem 4.8 Let G be a graph of order n and size m. If G satisfies any two of the properties:

(1) Gis connected. (2) Gisacyclic, (B)m=n-—1,

then Gis a tree.

— G is a connected graph, every edge of which is a
bridge.

— Every two vertices are connected by a unique path.

— G is acyclic, but contains exactly one cycle after
adding any edge.
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